REDUCERS

RV
RV WORM GEARREDUCERS

EXPLODED VIEW

10 B 12 12

| www.cHINA-REDUCERS.COM |




REDUCERS

NMRV
BRIEF INTRODUCTION TO WORM-GEAR SPEED REDUCER

NMRV SERIESWORM-GEAR SPEED REDUCER
NMRV

U WNE

NMRYV seriesworm-gearspeedreduce’ s mainfeaturesareasfollows:
1.Thecasewasmadeofhigh-qualityaluminiumalloy,lightinweightandnon-rusting.
2.Largeinoutputtorque.
3.Smoothinrunningandlowinnoise.

4. Highinradiatingefficiency.
5.Good-outlooking,durableinservicelifeandsmallinvolume.
6.Suitable foruniversal installation.

MODEL&MARK
NMRV 063 - 40 E F1 DS 71B5 B3

Installationpositioncode

Motormountingfacility

Two-wayshaft output,SSmarkmeansone-way
shaftoutput,andnomarkmeansholeoutput.
13 SSH

Flangeoutput,nomarkmeansflangelessoutput

Doubleextensionwormshaft,nomarkmeans
singleextensionwormshaft.

Speedratioofworm-gearspeedreducer

Centre-to-centredistanceofworm-gearspeed
reducer

Codeofworm-gearspeedreducer
NMRVmarkmeansGearedMotor,NRVmark

meansGearReducer

NMRV
NRV

I WWW.CHINA-REDUCERS.COM — 08— EVER-POWERTRANSMISSION I




REDUCERS

DRV MOUNTING POSITIONS

\/— 7 = =
- ,a\wﬂﬂ
e
W s RNASZ
: o ]
(A \W
\|
Lo
>

V6

B3

B6

PCRV MOUNTING POSITIONS

] %/ \Sg

B3

.; Il

s
_

BN

B6

| EVER-POWERTRANSMISSION |

| www.cHINA-REDUCERS.COM |




REDUCERS

DRV DRV MOUNTING POSITIONS

AS2 BS1 BS2

VS \V/S2 PS1 PS2

I ]

||N||| =

13

STRUCTURE CONFIGURATION
IREFE, RVAENTERE: WEELE (B) « W= (F, FL)  £.8 (1) . e )5
(8§, DS) « AU EL UM TS VUTE I
According to requirement, Ry reducers can be configured with following parts: extension worm shaft (E),

output flange(F, FL), torque arm (A), output shaft of worm (85,08} . The configuration positions and
type code number of structure shown as following charts:

A A S 7571 IPOSITION OF MOTOR TERMINAL BOX @ UR7T 2 M ( E JEXTENSION INPUT OF WORM SHAFT (E)

1 E

3

I WWW.CHINA-REDUCERS.COM | — 10— EVER-POWERTRANSMISSION I

[ N R R R R R R R R R R R R R R RN,



REDUCERS

F OUTPUT FLANGE (F,FL)
E F1, FLT F2, FL2

=)
Jug

K
2R
e

\_|7(
| K
[

i

A TORQUE ARM (A)

% A2

[ A1

. SS,DS OUTPUT SHAFT OF WORM (SS,DS)
E 351 552 DS

5
e
4+

T—

_____________________________________________________________________________________________________________________________




REDUCERS

I WWW.CHINA-REDUCERS.COM

EVER-POWERTRANSMISSION I

1
1
NMRV
NMRV PERFORMANCE PARAMETER (n1=1400r/min)
[ kw TVPF i n, r/mir) ML (N.M)» KW TYPF i n.(/min) M,N. W)
: NMRY03C 5 280 - 8 NMRV (30 75 126 7.9
l NMRV030 /5 186 2.6 NMRV 040 - 7.9
! N
! NMRY030 10 140 3.4 NMRV ¢30 10 " 10.2
l NMRV02C 15 9/ 4.8 NMRYV 020 103
1 -
! NMRV03C 20 70 55 NMRV C30 ‘5 Y 111
| NMRV0320 25 56 /2 iy 0.0 148
! 0.06KkW | NMRVO30 30 I’ 5.2 030 20 70 }gz
| NMRV030 40 3 8.5 NVRY Sag s
! ED 16 ? 5 21
! NMRVSZ"U 50 28 1;5 NMRV 0”0 2 % 2.1
| NMRVO/lc ‘2.3 0.18KW NMRYV €40 30 47 246
! NMRY 60 2L L2 NMRV 020 ' 219
i NMRV040 28 NMRV 040 10 . 32.8
| NMRVQ40 5.8 NMRV 020 5 » 37 1
! NMRV40 100 < 19.5 NMRV 050 > ! 390
' NMRV030 5 280 2.1 3
| ’ ? NMRV 040 €0 ”4 37.9
! NMRV030 /5 1866 4.0 NMRV g50 39.2
! NMRV030 10 110 5.1 NMRV 050 30 B 521
i NMRV030 15 92 7.2 NMRV 050 100 1 59.3
i NMRVG30 :?U /[3 ‘.3 NMRV 0<0 5 530 7.6
! NMRV030 2 56 0.7 NMRYV 050 76
| 0.09KW NMRY©30 30 47 12.3 NMRYV 040 75 196 11.0
[ ;. .x cb ~
! NMRV030 10 35 “p NMRYV 050 11.2
A NMRV 020 14.3
i NMRY230 50 28 174 050 10 140 e
! NMRV040 ‘8.6 NMRYV = -
i NMRVO30 - " 192 NMRV 040 Y o fg'6
: NMRV040 “9.0 mmg 050 70./
! - 040 R 27.0
! NMRV040 40 18 5.2 NMRV 050 =0 70 275
: NMRV040 100 12 293 MRV 010 T
h p ML g 56 Sl
| NMRVO‘;E 5 550 gf 0.25KW | NMRV 050 = > 32.8
! NMRYO 8.3 NMRV 020 - - 346
: NMRV040 /5 185 5.4 NMRV 050 ‘ 36.4
1
! NMRY 04D 5.3 NVRVO4D | " 456
: NMRV030 10 140 6.4 NMRV 050 : "
i NMRV040 5.9 NMRV 050 50 26 54.1
; NMRV030 15 o 9.6 NMRV 050 60 24 54.5
i NMRV040 9.9 NMRV 050 20 18 /24
; NMRV030 0 0 1.0 NMRV 063 76.7
! NMRV040 ! 3.0 NMRV 063 100 14 82.8
! ~
! NMRV030 95 56 14.3 NMRV 070 5 530 11.2
i NMR V040 14.1 NMRV 050 11.2
1
i 0.12KW NMRV030 10 = 16.4 Wg g:‘:g 75 196 :22
! NMRV040 16.6 J £
. e NMRV 020 21.2
i NMRV0O30 7.0 NMRV 050 10 140 515
: NMRV040 40 35 21.9 o 2l
! NMRV040 22.7 mmg¥ ‘5 a4
| - ot NMRV 020 . 20 40.0
| NMRvggg 50 e NMRV 050 =0 ‘ 407
| NMRVO? 264 MRV 040 ” ” 265
! NMRV040 ; 2. 203 , NMRV 050 : 487
i NMRV050 b0 26.2 0.37KW
: 2 NMRV 940 30 4/ 51.2
i NMRVD40 30 18 33,0 NMRV 050 53.8
: NMRV050 34.7 NMRV 050 0 a5 67.0
i NMRV0A0 190 1/ 39.0 NMRYV 085 - > 723
! NMRV040 o 39.6 NMRV 050 301
| 01akw  LNMRVO30 R 250 5.2 NMRV 063 50 28 233
: NMRV040 5./ NMRV 050 60 24 20.6
1
1
H
i
1
1
1
1
1
1

S



NMRV

REDUCERS

I WWW.CHINA-REDUCERS.COM

EVER-POWERTRANSMISSION I

NMRV PERFORMANCE PARAMETER (n1=1400r/min)

i KW TVPL M, (r/min) M.\ V) KW i N (r/min) N, (N. M)
i NMRV(63 60 24 86.5 NMRV090 40 25 229.7
i 0.37KW NMRV063 80 18 113.5 NMRV090 50 26 272.9
i NMRV063 160 14 122.6 1 4KW NMRV090 80 94 310.8
: NMRVQ40 . 280 16.6 NMRV110 319.1
! NMRV)50 ’ 16./ NMRV110 R0 13 403.8
i NMRVO10 I ‘86 24.3 NMRV110 109 14 471.2
: NMRVQ50 24.6 NMRV063 75 186 67.6
i NMqu4o 10 40 31.5 NMRVO75 70."
: NMRV950 22.0 NMRV063 10 140 59."
! NMRV010 15.3 NMRVO075 9.h
i NMRV050 15 84 16.5 NMRV063 " 44 1275
! NMRV063 46.7 NMRV075 ' ' 134.5
i NMRVQ50 20 10 60.5 NMRV063 20 20 167.9
! NMRV(63 61.8 NMRV075 1744
i NMRV050 - o6 72.3 NMRVO75 25 £g 217.1
| 0.b5KW NMRV063 - /3.2 NMRV090 211.0
: NMRV(50 R 20.0 1.5KW NMRVO75 218.9
i NMRV063 50 + 33.3 NMRV090 30 Al 247.1
: NMRVQ50 104.0 NMRV090 40 35 313.3
i NMRV063 10 35 10(.5 NMRV090 o0 24 372.1
! NMRVg75 115.7 NMRV110 392.9
! NMRVQ63 i A 1923.9 NMRV090 . 423.3
i NMRV(75 50 ?B 1243 NMRV110 6 2 435,1
i NMRV063 €0 04 128.6 NMRV110 20 18 550.7
| NMRVO75 156.5 NMRV130 534.0
i NMRVQ/5 80 18 215.8 NMRV130 109 14 672.2
! NMRV(75 100 14 235.0 NMRVO075 102.3
i NMRVQ50 5 280 22.1 NMRV090 7.5 166 101.9
i NMRV050 s 186 33,6 NMRV110 101.8
| NMRV063 ’ 33.8 NMRVO075 135.7
i NMRV050 ‘0 40 43.6 NMRV090 10 140 134.8
! NMRV063 44.5 NMRV110 133.7
| NMRV050 n o1 2.0 NMRV075 197.3
! NMRV063 ) 53.7 NMRV090 14 34 196./
i NMRVQ50 20 70 89.4 NMRV110 192.7
! NMRV063 24.0 NMRV090 20 70 254.9
' NMRV(63 25 56 92.5 NMRV110 254.5
| o7skw  [LNMRVGE3 50 4 113.6 NMRV090 2 o5 309. 5
' NMRVQ/5 124.2 2.2KW NMRV110 319.2
i NMRV063 40 o 126.6 NMRV090 10 47 562.4
! NMRVQ75 157.8 NMRV110 354.5
i NMRVO75 50 - 196.8 NMRV110 40 35 465.8
! NMRVQ090) 186.1 NMRV110 50 98 5/6.2
i NMRVO/5 60 04 213./ NMRV130 5638.7
: NMRV(90 211.9 NMRV110 80 24 633.1
i NMRV090 80 15 26" 1 NMRV130 0556
i NMRVQ90 100 14 292.7 NMRV130 20 13 733.1
! NMRV063 . 56 18.6 NMRV130 100 14 935.9
i NMRV(75 ) 51.4 NMRVO075 140.1
! NMRV063 10 ‘40 65.3 NMRV090 7.5 186 139.0
! NMRV(75 57.8 NMRV110 133.8
i NMRV063 5 y 93.5 NMRV110 135.0
! NMRVQ75 ' ) 98.6 NMRV090 10 140 183.8
| KW NMRV063 20 70 123.2 30KV NMRV110 132.3
! NMRV{75 127.7 NMRVO075 269.0
i NMRV063 25 b5 146.2 NMRV090 15 34 268.2
: NMRVQ75 159,2 NMRV110 262.7
i NMRV%S 30 i/ 166.7 NMRV090 20 20 347./
: NMRV{75 182.5 NMRV110 34/.0
! NMRVO075 10 35 231.¢ NMRV090 25 56 422.0
1

.

|

1

1

1

1

1

1

e T T T T T L T T L T L T L T e e e m e o o e o o e o e o e o o o . o o e o o e T o s e o o o o o o o o S oo o o e e o e - oo e e e e o e S - o e o e o e - o e e e e e e e e 2



REDUCERS

]
! ]
1
1
NMRV
]
i ]
. 1
—_— 1
NMRV PERFORMANCE PARAMETER (n1=1400r/min) !
1 1
1 1
I Kw YIE i n{r/miny | M.N. M) KW |YPE i mormicy | Me(N. Wi
! -
| NMRV110 25 H6 2353 NMRV110 1 47 644.5 H
| NMRV090 20 N £94.1 NMRV130 652.6 |
| NMRV110 £83.3 4.0KW | NMRV130 40 36 850. |
| sokw [ NMRv110 R 635.1 NMRV130 50 28 0340 |!
1 20 35 i
| NMRV130 63/.6 NMRV130 60 ? 1920 |1
! NMRV110 00 »g T45.8 NMRV110 -5 186 2544 |
| NMRV130 v T75.5 NMRV130 - el
: NMRV130 80 24 894.0 NMRV110 10 334.3 |
1 1
| NMRV075 186.8 NMRV130 1 3343 |i
! NMRV090 185.3 '
, - 186 NMRV110 . 48°6 |
, : 15 9 : .
: NMRV110 185.0 5.5KW - "NMRV130 o B7.2 |
| NMRV130 18/.1 NMRV130 6362 |!
; NMRV090 P15 NMRV110 20 70 6452 !
1 — ]
! NMRV110 10 120 2131 NMRV130 25 56 925 i
1 1
| sy [MRVLSO 243.1 NMRV130 30 47 8973 |!
i NMRV090 357.7 NMRV130 10 35 ‘168.9 |
=
: NMRV110 15 94 350.3 NMRV130 -5 196 316.9 :
| NMRV130 354.3 NMRV130 3 3506 ||
| NMRV090 L§3.5 NMRV110 55 i
; ‘ - 7.5KW 10 140 4598 N
! NMRV110 20 7C Lh2.7 NMRV130 4558 !
1 3 i
, NMRV130 /69.3 NMRV130 15 a4 6646 |
! ~ ]
! NMRV110 95 56 580.4 NMRV130 20 70 879.9  |i
H e - ]
: NMRV130 576.4 NMRV130 25 56 080.7 |
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
1 ]
! ]
1 1
1 1
A o o ]
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T |
1 1
1 1
1 ]
| [ www.cHINA-REDUCERS.COM — 14— EVER-POWERTRANSMISSION | |
1 1
1 ]
! ]
' 1




REDUCERS

1
PCRV
PCRV PERFORMANCE PARAMETER (n1=1400r/min)

Kw | PC+NMRV 1, [N i, KW PC+NMRV i 1, [MNGWY] i
PCRV063/040 b 18.7 £3.0 S 25 PCRV080/090 91 1h | 25/.9 3 30
PCRV063/040 | 9o 156 | <72 3 30 PCRV080/075 | 120 | 1°7 | 32983 3 40
PCRV063/040 190 1.7 62.3 3 40 PCRV080/090 120 1.7 327.2 2 40
PCRVOG3/040 [ [ 704 3 50 PCRV080/075 | ¢4 Gz A1 3 50

5 P PCRV080/090 . 442.6 3 50
0.12KW Eggggg;ggg 180 78 4: : LE PCRVOBO/L10 | o "8 aers 3 50
PCRVOS3/040 a5 7 g a0 PCRV080/0%0 | - sg |545.7 3 B0
PCRVOB3I050 | 240 58 | gag 3 P PCRV080/110 591.0 3 50
PCRV063/063 “04u | 8 | %0 PCRVOBOILLO | 5pg | 47 (872 L 3 1 100
S CRV053/040 a1 3 00 PCRV080/130 09./ 2 120
PCRV063/050 | 300 4/ |12, | 8 [ 100 PCRVOBOIOTS 4 | o S8l 2 B
- PCRV080/090 g 8.7 | 200.3 2 25
PCRV063/063 113, | 8 | 100 . 2 >
PCRV063/040 i _ | 648 3 9% PCRVOBO/LI0 et S =
75 187 PCRV080/075 354.3 3 30
PCRV063/050 67.4 3 25 PCRVO080/090 | 90 ‘56 | 3517 3 30
PCRV063/040 | .y o [ 709 | & | 30 PCRV080/110 3466 | 3 | 30
PCRV063/050 746 3 30 PCRV080/090 ) _ | 4461 3 40
PCRV063/040 190 17 935 3 40 0.75Kw |_PCRV080/110 120 7 oo 3 40
PCRV063/050 97.0 3 40 PCRV080/090 [ 5300 3 50
0.-18KW | PCRVO063/050 | ., 95 | 108 8 a0 PCRV0B0/110 | ' i Y 3 50
PCRV063/063 115.5 8 A0 PCRV080/090 130 78 603.6 3 60
PCRV063/050 180 23 111,/ 3 60 PCRV080/110 ) £37.7 3 60
PCRV063/063 “19.9 ] &0 PCRV080/110 240 55 807.1 3 80
PCRV063/050 |, .. [14sc] 8 30 PCRV080/130 782.6 3 50
PCRV063/063 ' 157.3 | 8 8 PCRV080/130 | 300 | 47 | 95739 3 100
PCRV063/050 | , o, | 63.0 | & |10 PCRVOSO/I10 |, o [ o, [410.2 [ 242 | 50
PCRV063/063 1701 | 8 | 100 PCRV090/130 4155 [ 242 | 30
PCRVOTLIOSO | 7o, oo [ 900 | 847 | % PCRVO/L10 | oo | ;35 012 | 10
PCRVOTLIOS0 | o, | 1090 | 347 | 2o PCRVO90/L10 1, (g [Lo2 | 247 | 50
PCRV071/063 “14.0 | 347 | 30 1.1Kw | PCRV090/130 (3.7 | 242 | 50
PCRVO71/050_| , . o 5 1428 | a7 | 40 Eggggg%g 1152 | 96 Zr;:: ii; ;g
PCRV071/063 1471 | 347 | 4o : PN —
- PCRV071/063 _ 169.5 | a47 [ 50 PCRVOSO/LIO | yooq | 7, | 9049 | 242 | 80
0.20KW 158.5 6.8 — PCRV090/130 925.9 | 2.42 80
PCRV071/075 197.2 | 347 | 50 - P -
; PCRV090/130 | 747 58 | 1333 | 242 | 100
PCRVO71/063 | yq0,  ,4 | /289 | 317 | 60 PCRV090/110 | -0 » . 5596 [ 21> | 30
PCRV071/075 2121 | 347 | co porvoooiizo 1 20 | 1% Tsens [ 242 T 30
PCRVOTLNO6S | 5455 55 |8 | 917 | 40 PCRVOSOII0 | gog | 145 L300 | 242 | 40
PCRV071/075 295.2 | 3147 | 80 PCRV090/130 /329 [ 242 | 10
PCRVO71/063 | oy7 44 | 2496 ] 347 | 100 1.5kw | PCRV090/110 | . e L2032 [ 242 | 0
PCRV071/075 321.5 | 3147 | 100 PCRV090/130 8915 | 2.42 50
PCRVO7L/063 | _ . . [ 1483 | 847 | o PCRVOS0L10 | 1, | o6 0288|212 | 60
PCRV071/075 ' ' 161.2 | 847 | 2 PCRV090/130 T “057.0 | 242 80
PCRV071/063 95 1 147 168.7 3.17 a0 PCRV090/130 | 1936 /2 ‘26286 | 22 80
PCRV071/075 184.7 | 347 | a0
ok PCRVO71/063 | ., . o |17 847 | 4
PCRV071/075 2374 | 347 | 40
PCRVO71/063 | 1505  gg | 20068 | 87 | 50
PCRV071/075 2922 | 847 [ 50
pcrvo7/07s | oo, [ 3188 | 47 | a0
PCRV071/090 3146 | 347 | &0
PCRVO71/090 | 253.6 55 | 387.9 | 847 | ¢
PCRVO71/090 | 317 44 | 134/ | 347 | 100
055Ky | PCRY080075 /18 | 2267 3 25
PCRV080/075 90 15.6_ | 259.8 3 20
[ www.cHINA-REDUCERS.cOM — 15— EVER-POWERTRANSMISSION |

eeeccecceeede

S



REDUCERS

DRV
DRV PERFORMANCE PARAMETER (n1=1400r/min)

KW | NMRV+NMRV i nmin]Moe] i, KW | NMRV+NMRV i [ngdmin | VGM)] i
DRV030/040 300 | 47 | sa7 | 10 | 30 DRV040/075 750 | 1.9 | 5504 | 25 30
DRV030/040 400 [ 35 [ a0/ | 10 | <0 DRV040/090 900 | 16 5887 | 20 a0
S RV030/040 00 | 28 | 10161 20 | 25 018kw|_DRV040/090 | 1200 | 1.2 | 760.8 | 3¢ Z
DRV030/040 800 | 23 | 1115 20 | 30 DRV040/090 | 1200 | 0.9 ] 903./ | 30 | n0

5o | 19 1501 25 | 30 DRV050/110 | 1800 | 0.8 | 932.3 | 60 30
ng;gjgjg o | g |68 | 30 | @0 DRVos0110 [ 2400 | 06 [12164] 69 20
DRV030/050 10| 30 | 80 DRVO40/075 | 596 | 4.7 | 347.6 1 10 | 30
DRV040/075 100 | 35 | 4086 | 10 70
gggzg;ggg 200 | 1.9 fl?; ;g tU DRV040/075 | 500 | 2.8 | 5501 | 10 | 50
DRV030/040 ;a-; 50 30 DRY040/0%0 Go | 23 104911 o .
Sl : DRV040/090 0 | 19 7307 [ 15 50
DRV030/050 | “500 | 0.8 | 247.5 | 50 | 30 || 0.25KWI—roummnes 900 | 16 | 9006 | 15 60
+ osyyy |_2RV030/063 2702 | 30 | 50 DRV0SOL0 | 1200 1 12 111230 22 T
DRV030/040 ) 2086 | 60 | 50 DRV050/110 | 1500 | 0.9 [12859] s0 | 30
DRV030/050 | "800 | 0.3 | 2/2.3| 60 | 30 DRV050/110 | 1300 | 0.8 |1294.8] 60 | 30
DRV030/063 2806 | 30 | 60 DRV063/130 | 2400 | 0.6 [1820.3] 60 2
DRV030/040 3412 | 60 <0 DRV063/130 2000 | 0.5 [2214.1] @0 50
DRV030/050 2400 16 353.9 60 - DRV040/075 300 47 514.5 10 30
DRV030/063 3657 | 60 | o DRV040/090 " Jagea | 75 <0
DRV040/075 3887 | 60 | ¢ DRV040/090 400 | 35 [wsazs | A0 20
DRV030/040 3856 | 60 | 50 DRV040/090 500 | 2.8 [ 7897 | 10 50
DRV030/050 oo | o5 [A043] 60 | 60 0.3-kw| DRvo40/090 600 | 2.3 o325 | 15 20
DRV030/063 e ' 4914 60 50 DRV050/110 750 1.9 |1157.2 25 30
DRV040/075 4853 | 60 | b0 DRV050/110 900 | 1.5 |17805| a0 30
DRV030/040 | 3200 | 0.4 [369.2 | 80 [ <o DRV063/130 | 1200 | 12 |174*2| 40 | 30
DRV030/040 | 300 | 4.7 [ 1031 10 | 30 DRV063/130 | 1500 | 0.9 |2006.2] 50 | 30
DRV030/050 | 400 | 25 | 1411 ] 10 | <0 DRV063/130 { 1500 | 0.2 1208251 60 | &0
DRV030/050 00 | 28 | 1614 | 10 | s0 ggg:g;ﬁg zg: 47 | 7604 | 10 | 0
DRV030/050 00 2. 76. 2 3 > | 335 199271 T -
V0301050 ?:q :, 1;2? zg ?g 0.55kw|  DRV050/110 so0 | 2.8 Jwoeral 19 50
DRV030/063 900 | 1.6 | 2727 | 230 | 30 ng:g;ﬁg ;OT f; 1:;3; ;2 ;u
0.09KW [ DRv030/063 200 | 12 | 3518 | a0 [ <o V0531130 1§Julu o Tases0l 30 70
DRV040/075 | "500 | 0. |450.5] 50 | 50 DRV050/110 500 | 47 [10s60] 10 30
DRV040/075 800 0.3 460.0 60 30 DRV050/110 100 3.5 |13b2.9] 10 £0
DRV040/00 | 7400 | 96 157931 & L 0 1/ _ .| brvosaiso | 506 | 2.8 [168e7| 10 | s0
DRV040/090 3000 C.h 688.2 60 50 9 DRV063/130 600 2.4 1984 .5 15 /0
DRV030/050 300 4.7 11/.7 10 30 DRV063/130 750 1.0 |2403.0 25 30
DRV030/050 400 35 | 1881 | 10 <0 DRV063/130 90¢ | 1.6 [27358| 30 30
DRV030/063 590 2.8 | 2039 | 10 50 1 1kw L_DRV063/130 300 [ 4.7 |15725] 10 30
DRV030/063 600 | 2.3 | om0 15 | <o ' DRV063/130 406 | 35 [2083.9] 10 20
DRV030/063 759 1.9 | 3168 | 15 b0 1.5KW | DRV063/130 300 1.0 |21443| A0 30
o.- o [_DRV040/075 990 | 16 | 4023 | 30 | 30
DRV030/063 N 691 | 30 | <0
brvodorors | 0 | 12 s T a0 | 2o
DRV040/090 1500 | 0.9 [602.5 | 30 [ b0
DRV040/090 1800 | 0.3 | 686.2| 30 | 60
DRV040/090 2400 | 0.6 | 7724 | €0 | 40
DRV050/110 3000 | 05 |1003.2| e0 | s
DRV030/050 300 | 47 | 271 10 [ 30
o~ 2w |_DRV030/063 400 | 35 |29°5| 10 | 40
DRV030/063 500 | 2.8 | 3359 10 | &0
DRV040/075 600 | 23 |4726| 20 | 30
[ www.cHINA-REDUCERS.cOM — 16— EVER-POWERTRANSMISSION |

 eeecsscssssdece s s s s e e s e e s e e e e s e e e e e e e e s e e e e e s e e e e e e e e e e e e e e e e s e e e e e e e e e s e e e s e e e e e e e e e e s e e e s e e e e e s e e e s e e - -

S



REDUCERS

N METRICSERIES
ALLOWED RADIAL LOADING POWER ON OUTPUTSHAFTOF REDUCER(N)

1 [ na: JRVO030|RV040[ RV050 | RV063 | RVO75 [ RV090 | RV110 | RV130
5| n80 | 599 [ 1°49 | 158G | 20Gr | P47B | D687 [ 3389 | 2432

75] 86 | 631 | 1325 | "829 | 2378 [ 2739 | 3098 [ 3908 | 5112 Fr
10| -40 /58 1454 | 200/ | 2809 | 30/2 | 3400 | 4288 | 5610

15| 94 368 1665 | 22D | 2038 | 3518 | 3892 | 4910 | 6424 = -
20 7¢ 9G4 [ 1B29 | 247G | 3733 | 3BGH | 4277 | G395 | 706/

25| 56 1033 | 198° | 2735 | 3855 | 213/ | 1433 | 4BA1 | /84% —1

30| 47 | 1088 | 208¢ | 2881 | 374y | 1110 [ 2830 | 6155 | G047

A0 | 35 |1zo4 | 2309 | 3188 [ 2145 [ 4830 | 5401 [ 6612 | 8912

50| 28 [ 1996 | 2485 3 252 | 5817 | 7331 | wsg0

A0 [ 24 1381 | 2649 | 3658 | 4756 | 5539 | 6136 | 7615 | 10224
30 18 1516 | 2907 | 4074 | 5218 | 6144 | 6799 [ 8576 [1-21¢9
100| 14 | 1633 | 3142 | 4332 | 5639 | 6639 [ 7348 | 9268 |12124
SR =N ETTFRTE BT 2]

“ BRI RN, TEIMERTEE AN EPMT RAE.

-LO7FBSHME LREBIUIE, EFAFIARERE D 0T E Im1/6.

-Above table is the allowed loading force on the midpaint of output shaft.

-When the reducer is with double output shafts, the resultant radial force at the edge of shaft should

not exceed the values specified as in above table.
-The max allowed axial thrust is 1/5 of radial force while the radial force and axial force effected

IS
w
IS
=
@
-
)

together.
NMRV MOTOR CONNECTION FOR NMRV REDUCER
PAME [V | M P[5 ]rs[1c]15]20 2530 ac]s5c safso]0a
ILC  |B5|p14|35|B14|E5 |34 o
NMRY 5635 B<4|80]50|100] 65| 20fs0] o[ e ool 9]y v]|v vlg]-
030 g535 18 4|8y |e0|tis| v aofgal ] o of e o]
se85 |&c| - froof - fzol - |- -[-|-1- -[- -]9o ofa]e

NMRV 6335 3-4|85] 60 (115 75 | 40 90 [ 11 11| 11] 1111 11|11 <11 1] 11|11
040 c1ss 4] 0o roisof | eojies 14 4141414 14| 4 141 - -|-|- _
2035 B* 4 20| 20 [165[- 0afzoal120] 1¢ |9 [18] 1¢

NMRV [RIEK] S5 -1y - 49 - |- -|-|-1- -|- “1]°1 “1|11|11
o 7135 B°4] 0] 70130 85" 601105144 [14] 14|14 14[“4 14|14 14|14
8035 B 4| 30[ 20 [164]* 0aj70q(1 7D 16| O (18 1918 15(“0 193] - - |- | - I 1
TI3B B 4“0l 70189 8560108 - | - [ - | - |- ~-|- 14|14 14|14|14
8035 184 30 80165 00[2001120] - | "D[15 19|15 159 19]18 19|19]I¢
4
4
4

NMRV
063

D035 B 4| 20] 95 [165[115[200[140] - |24 [24] 24|24 24|2¢ - | - -]|- |-
8035 B 4]'30] 80 [165[ 00[200]120) - | - | - [ -|[- -['9 19]18 19](9]I¢
NMRV 6935 B4 30| 95 [165/115[200]1140( - | 24 [ 24] 2
075 10CB5/B14]" £0]* 10]215]° 30|250[180 28| 28|28
112B4/B14)" 60| 102 15[* 3012501160 - (76| - - |- -|- -|- -|-]|-

80365 B*1 [ 30| g0 (165 najzoof120] - [ - | - - |- -[- -]19 1a]19]1s -
NMRV o364 [20] 05 [165/1156[200(140] - [ - | - | - [ - 24|2¢ 24|24 24| - | -
099 1gups/p 14 80 10)215] sofesofiso| - |28 | 28| 28|28 28|23 - |- - |- |-
112B5/B14 o[ 10]215[ 3020|150 - |28 28] 28]28 - | - -] - -|-]|-
coBs |39 - [1es| - feog] - |- -|-|-]- -|- -|24 2a|z4]|24
NMRV " -gg3y [go| - [21o] - Jeso| - | - |28 |28] 28|28 28|25 28|28 28 - | -
10 <235 |'8y| - [218] - [es0] - | - | 28|28 28|28 28|28 - | - -|-|-
<2235 [220] - [265) - |200f - | - [=8]2g|asf -[- -|- -|-|-
SORs ['80] [165[ [700 74|24
NMRV  <pg3y 80| - 215 - 250 - [ - [-|-|-]- -|- 28|28 28|z28|28
28|28 28| - |-

130 <+235 gyl - [215] - |00 - | - [28[28] 2
‘823 (230 _ 263 _ [300]_ i

I WWW.CHINA-REDUCERS.COM — 17— EVER-POWERTRANSMISSION I




REDUCERS

S X ]
\ 11
A ]
s O
= ’ o — 78N
o /Y /0.
1 1 i i / D~y \
—— —_— 1 o
/st s I i A Gk ‘
/ = B 2 e [ SR
iy /7 ; |h
[ YR - ! Y \ (Il]- L 1
N ///- _ i i =
% Q;}.;)V/f.: o~
AN\ DY = 1 = 3
H ') 2 & F
‘;k\:‘f‘ 1 1 L :|
,z :)A <_—_
7N '/-"‘I
AN F:' N
F: - G
~
»,/Q\\
\ <
. \ — - ’; b
L o - ea—
_El;ﬁ I
: TN R\ 1]
S . i .
A 1T NN 1—\‘ :
i \)
L .
-2 I_
P
NMRV A B C C1 DH7) [E(h&)] F G 1 H1 | L1 N N C P Q R
030 30 97 a1 A1 1/ qh 32 | 56 65 29 ) 63 10 57 30 7h A1 6.5
019 104 126 /0 60 | 1819 | 60 [ 43 | M | /5 | 86b /9 /8 50 /'5 |10 8/ | b | 65
059 120 1441 80 0 [ 254 | /0 | 19 | 8 | & | I3.b 80 92 60 81 50 | 100 [ 64 [ 85
063 114 174 100 25 2528, | 30 67 [ 103 | 95 53 95 117 72 107 63 10 &8 | &5
075 172 205 120 90 28(35) [ 95 72 1112 | 115 57 1125 [ 120 36 119 75 140 | 93 11
090 206 238 140 100 | 35(38) | 110 | 74 | 130 | 130 67 129.5| 140 103 135 80 160 [ 102 [ 13
110 252.5 235 170 1°5 42 130 14< | 165 74 160 155 | 127.5 | 167.5 | 110 | 200 | 125 <
130 292.5 335 200 120 45 130 - 155 | 215 81 180 170 | 147.5 [187.5 [ 130 | 250 [ 140 | 16
NMRV| S T \V PA P3 FC Pz PV | PN¢H8) 20 PP | PQ| & x «1 Kg.
030 1 B | 27 [ A/5 6 1 MEX“1(~=1) | 68 50 6.5(n=4)] 80 | 70 | & 16.3 0 /B° 1.2
019 26 | 6.5 | 3b 6/ / U Mp x 8(~=1) | /b 60 O(r=A) [110[ 95 | 6 20.8(21.9) /h* /4 2.3
050 30 N 40 90 9 K N8x Q(~ 4) | 83 70 11041251170 4 28.3(27.3) by Lb* 3.5
062 36 8 50 82 10 6 N8x“4( 3) 150 115 11(1 4)[ 160|142 | 4 28.3(31.3) Lh’ Lh* G.2
075 40 0 | 60 111 13 6 |MBx"4(~=3) | 165 130 14(1=4)| 200 | 170 | & 31.3(38.3) L5 L5® g
199 4h i1 | 70 111 13 & M0 x18(1=8) | 175 152 1401 4 [ 210 | 200 | 10 | 38.3(11.3) L5 /B 13
1 50 14 | 35 131 15 € M0 x18(1=8) [ 230 170 14{1=8) [ 280 | 260 | 12 45.3 Ly Ly 35
130 60 15 | 100 | 140 15 3 M*2 x?1(1=8) | 255 130 16(1=6) | 320 [ 200 | 14 43.3 /b PP 48
I WWW.CHINA-REDUCERS.COM — 18— EVER-POWERTRANSMISSION I




REDUCERS

NRV METRICSERIES NRV DIMENSIONS

I

1

NRV| A [ B [ 6 [ a1 [owzyfoiceiens| r [ 6 [ [ ] <lulm] n]folr|almRr
030 | &0 | o7 [ 54 |44 | 14 | 9 |55 | 22|56 [ 65 | 20| a1 [ 20 ex[a0] 5730 [75 4465
040 [ 100 [-215] 70 [ 60 [18c 9] -1 [60 [ 43 [ 71 [ 75 [365] 60 [ 23 [ 78 [ 50 [715] 40 [ 87 [ 55 [ 65
050 [ 120 | 44 [ 80 [ 70 [25024)] -4 [ 70 | 49 [ 85 [ 85 [435[ 74 [ 30 [ 92 [ 60 [ 4 [ 50 [100 | 64 | 85
0GS | 144 | /4 | 100 | &5 |o6(?8)| ‘0 | &0 | 6/ | 105 | 9a | 53 | 90 | 40 | 112 | /> | ‘0> | 65 | 110 | 650 | 65
om | 172 | 208 [ 120 | 00 [os@sy| 24 [on | /2 [ 112 [44s [ 5/ [Hon [ a0 [ 120 ] 86 [ 1| /6 [120 [ 93 | 11
030 | 206 | 238 | 140 | 100 [ 35(38)| 24 |1-0 | 74 [ 120 | 130 | 67 | 125 | 50 [ 140 | c03] -35] 90 | 460 | 102 | 13
110 [250.5] so5 [ 170 [ 115 | 42 [ 28 [1so [ - [T1aa 165 | 74 [ 172 6o | 155 [197.6[167.5] 11c [ 200 [ 15 | 14
130 [292.0] 235 [ 200 [ 120 | 45 [ 30 [180 [ - | 155 [ 215 | 81 [ 162 | s0 | 1/0 [14/0[18/5] 130 [ 200 [ 140 | 16
NRv] s [ T [ v ealrs]oac PF pm [P o P3fra] b [ b1 t n [ m[e] 1] ks
030 [ 21 [55 ] 27 [sas5] 6 | 4 [ Mo 1=ty 63 [ 50 [6.50=1) s0[70] 5 [ 3 163 [r02] - o[ ey | -2
040 [ 26 |65 | a5 [ 67 | 7 [ 4 | vexatm 4 | /s [ 60 [9;m 4 110] 95 6 [ 4 (208218125 ] - |45 | 45 [ 23
050 [20 [ 7 |20 | 90| s | 5 [ mexcom=4)| 85 [ 70 [11in=4> 125|-10] 8 | 5 [28.3(27.3)|18.c | 6 | 45 [ 45 | 35
063 [ 26 | 5 [ 50 [ 82 [ 10 [ 6 [Msxam=6|150] 15 [11n=4' 130[142] 8 | 6 [28.331.3)[ 215 | w6 [ 45 | 45 [ 6.2
075 [ 40 | 10 [ 60 [111[ 13 | 6 | Msx"4(n=6) | 165 | 30 [14n=4) 200|‘70| & | & |31.3(38.3)[27.0 | M | 45 | 45 | 3
090 | 45 [ 11 | 70 | 111 13 | 6 [M10x18(1=8) [ 175 | “52 |14n=4> 210]|200[ 10 | B [38.3(41.3)|27.0 | M5 | 45' [ 45 | 13
110 [ 50 | 14 [ 85 [131] 15 | 6 |[MI10x13(1=8)]| 230 | 70 [14n=8, 280(260| 12 | & 453 [31.0 [Mi0f 45° | 45¢ | 35
130 [ 80 | 15 {160 {140 | 15 | 6 [M12x21(1 8)] 255 | “8C [16n 6/ 320|290] 14 | B 488 [23.0 [M10] 45 [225°] 48

I WWW.CHINA-REDUCERS.COM — 19— EVER-POWERTRANSMISSION I




REDUCERS

1
1
PCRV PCRV DIMENSIONS ( METRICSERIES
1
v K
'_:D —— —
s B fpy N\L A=A
Al =l o= "7
. _/IE‘EE‘Vlﬁ\;’-'\ — o
VAl =7 *%_Q‘: — |5 ® “le
= 1
/ RN .
D =
W 1)) 1447 -
S\ ' N S L
- ai‘&?‘y al EX y s| =
v SXIC FRe— 1
‘ I — L1 | | e
_7E L
C
A - —
S
—= S b
c I| ~ 5
L1
PCRV A E C ¢l |oamy [cyy| r G| n | [ _ |l v N o P a | R
063/040 100 [121.5] 70 | 60 [13019)| eo | 43 | 71 | 75 |aes5{123| a0 | 78 [ 50 [716] 40 | 87 55 | 65
063/040 120 | 142 | 80 | 70 25024y 70 | 49 | s5 | a5 |435[ 133 40 | 92 | en ¢ |80 100 e4 |85
071/050 120 | 142 ] 80 | 70 |2524)| 70 | 49 | 5 | 35 [43.5]|143| A0 | 92 | 60 ¢ |80 100 e4 |85
063/063 144 | 17¢ | 100 | 85 [25.28)| 80 | 67 [ 103 | 95 | 52 [ 148 40 [ 112 [ 72 | ‘02| 83 [ 110 0 | 85
071/063 144 | 17¢ | 100 | &5 [25.28)| 80 | &7 [ 103 | 95 | 52 [ 158 | a0 [ 112 [ 72 | ‘02| &3 [ 110 &0 | 85
071/075 172 | 205 | 190 | 90 [2335)| 95 > {112 116 ] 57 [ 176 | a0 [ 120 | &6 [ 119] 75 | 140 a3 | 11
080/075 172 | 205 | 190 | 90 [2335)| 95 > 112|116 57 [ 186 | 63 [ 120 | 86 [ 119] 75 | 140 a3 | 11
0/1/690 206 | 238 | 170 | 100 [3a@38)[ 410 | 74 [ 130 [ 130 ] 67 [ 198 | a0 | 140 [ 103 ] ‘35| 90 [ 160 dH02 | <3
080/690 206 | 288 | 170 | 100 [aa@ad)[ 440 | 74 [1a0 [ 130 | 6/ [oca| 63 | 140 [ 103 ] ‘35| 90 [ 160 402 | 3
080(099,410 [252.5[ 290 | 1.0 [ 140 | 49 [Ha0 [ - [ 444 46| 74 | 238 | 63 | 4ub [12/.4]16/75] 440 [ 200 194 | -4
080(090//120 |292.5] 335 | 200 [ 120 | 45 |180 ] - [ 155| 215] 31 [ 253 &3 | 170 [147.5[187.5/ 130 | 250 140 | 16
PCRV s | T PA PR | PC PC PM | PN PO PP | PO b t a | o1| Kg
063/040 26 [ 6535 | 67 7 | 4 | M6x8(n=4y | 75 | 60 | 8(n=4)| 110 | 95 (&) |20.8(21.8) 45' | ¢5" [ 39
063/050 20| 7 | 40 [ 90 9 | 5 | mBxi0m 4 | 85 | 70 [11¢1 4)| 125 | 110 8(8) | 28.3(27.3)| 45" | ¢5° | 5.2
071/050 30| 7 |40 [ 90 9 | 5 | mBx10m=4) | 85 | 70 [11¢1=4)| 125 | 110 8(8) | 28.3(27.3)| 45" | ¢5° | 5.8
063/065 36| ¢ | 50| 8 10| 6 | MaxiAn=8) [ 150 | 115 [11(a=A)| 180 | 149 8(8) | 23.5(81.3)] 45" | /5 | 7.9
071063 36| 8 [ 50|82 10| 6 | Max14in=8) [ 150 [ 115 [11(1=4)| 180 | 142 8(8) | 28.3(31.3)| 45" | <& 5
071075 40 | 10 | 60 [ 111 13 | 6 | MBx14n=8) | 165 | 130 |14¢1=4)| 200 | 170 3.10)[31.3¢38.3)| 45’ | ¢5" | 11.3
080/075 40 1 10 | 60 [ 111 13 | 6 | M8x14w=8) | 165 130 [141=4)| 200 | 170 8.10)|31.3(38.3)| 45’ | <5" | 131
071/090 45 | 11 ] 70 [ 111 13 | 6 [ Miox &(n=8)| 175 | 152 |14{1=4)| 210 | 200 ‘0("0)] 38.3(41.3)| 45' | 25" | 15.3
080/090 45 1 11| 70 [ 111 13 | 6 | M10x“8(n=8) | 175 | 152 [14(1 4)| 210 | 200 “0("0)| 38.3(41.3)| 45° | ¢5° | 17.2
080{090)/110 50 | 14 | 85 [ 131 15 | 6 | M10x"8(n=8) | 230 | 170 [14{1=8)| 230 | 260 12 453 | 45 | <57 | 33
020(090)/130 80 [ 15 [100 | 140 15 | €6 | Mi2x21(n=8) | 255 | 180 |16{1=3)| 320 | 290 14 43.8 45° | 22.5'| 52.2
| WWW.CHINA-REDUCERS.COM — 20— EVER-POWERTRANSMISSION |

e e e T T L T L T L T L L L T T o e e o e e e o T - o o T e s o o e e e e e e e e e e e e e e e e e e e e e e e e e e e mm e e e e e e e e e e - e e e e e e e e e e e e e e 2



REDUCERS

DRV DRV DIMENSIONS ( METRICSERIES

F -~

—
77
l(‘
\
~

FC

- B — o
—t 0
p —|_ 4T —
_| —
A Y
Lo L
DRV | & | a1 |8 | c|ct|omn|oigey|zaa | Fla|H |0 | -2f 1. |k cCfur| v [ni| N|N]O]|O]|P
030/040 | 100 | 80 [12°5] 70 | 60 [181A9)| 9 60 43|71 75 [36.5| 29| B4([51]20 120|178 | 50 40 |715] 57 |40 | 3¢ | 87
0307050 120 | B0 | 144 80 | 70 |2524)] 9 70 |42185| 85 [43.5| 23| 55(51 )20 13092 | 60 49 84 | 57 |50 | 3C |1Q0
30/063 | 114 | 80 [1/4[100| 85 [75028)| o | 80 |6/ [103| 95 | 53 | 29| 55|61 |20 Ms|t2| o | 10 [102 |5/ |63 | 5c |10

020/0/% | 1/2 1100 205|120 S0 [2835)] 11 g5 [7Z 112 15| 5/ (365 70| 60 [ 23 165[120] 86 [ 50 | 119 |/1.8] /5 | 4¢ | 140

020/080 | 206 (100|223 140|100 |35(38)| 11 | “10 |74

-
o

=3
w
5
>»
N
(253
>
~
=
f=2]
=
N
ey
—
=0
N
—
~
D
—
=)
>0

50 [ 135 [71.5] 90 | 40 (160

0507110 [ 2525|120 295[ 170|115 42 14 [ “30 | = |144]|"65 )| 74 |43.5| 80 | 74 | 30 225[155|°27.5( 60 (167.5( 84 |110] 5¢ (200

«

0637130 | 792 5| 144 | 330(200[120] 14 19 | “80 | - [1bo[216| 81 [ &3 | 9 [ 90|70 245(1/0(* /0| 72 (1875|102 [130] 63 |2&0

DRV | Q@ |2 |8 |V [PA[PB]|PC °k PM [ °NeHS) [ PG PlPA @ [« b h1 f 1 n | Ky
030/040 | &5 |6.6[76(6.5] 35|67 | 7 | 4| MexE(r=A) | 76| 80 |%r=/)|110(110 45°[ 45% | () | 3 | 20.8(71.8) |10.2| - | 3.9
030/050 [ 64 |85(30( 7 | 10|90 | 9 | 5| M8x10{1=<) | 85| 70 |“1n=4)|125(110 45 [ 45° | &(8) | 3 | 28.5(27.3) |10.2| - | 5.0
030/083 | 30 [8.5(36| 6 | a0 |82 10| 6 [ M8x14(1=8) |150| 115 |*1Un=4)|180|142 45| 45° [ &8 | 3 [ 28.3(31.3) |10.2| - | 7.8
040/075 [ 98 [“1]40({10| 60 [111[*3 | & | M8x14{1 8) |165| 130 |“Hn 4[200[170 45 [ 45" [B(10) | 4 | 81.3(38.3) |12.5 12.0
010/090 [ 162 |15 [45[ 1] 70 |111] “3 | & | M1Ox18(n &) |175| 152 |“An=A,[210(2C0 457 A5° |10(10,] 1 | 38.5(41.3) [12.5] - [16.0
050/1°0 125 |14 [50( 14| 85 [131] “5| & | MI0Ox13n=8) |230| 170 |*4{n=8)|280 (260 45 [ 45° ‘2 |5 453 16.0| M6 |38.2

063/130 | 140 16 [60[ 15 [100{140[ 5| 6 [ M12x21(n=8) |255| 130 |*6n=8,|320|230 45 |22.5°( 4 | 6 48.3 21.5| M6 [55.0

I WWW.CHINA-REDUCERS.COM — 21— EVER-POWERTRANSMISSION I

N S R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R RN

S



e Emm e e ae el oo e e e e e e e . = = = = = = S S S S A e S A S A A S A S A A S A S A S A A A S A S A S A S A S A A A S A S A A S S A A A S A S A A A S A S A A S e S S e e S e e S S e -

REDUCERS

METRICSERIES
WAFRHH () RT/EXTENSION WORM SHAFT(E) DIMENSIONS

b1 K J

t1
EX

WA (3S, DS) R /OUTPUT SHAFT (SS,DS) DIMENSIONS

L1 11

T

—

I WWW.CHINA-REDUCERS.COM

EVER-POWERTRANSMISSION I

1

1

1

1

1

1

1

1

1

1

i

J | ae | K m b1 |

030 45 9 20 - 3 | 102 |
0’0 53 T 23 - 1 1.'»‘.b§
050 64 | ‘4 | 30 | we 5 15 :
63 /6 | ‘9 | A0 | w6 6 | 21b :
075 90 | 24 | 50 | w8 8 27 :
a9n 108 2 50 M8 8 2/ i
110 135 | 25 | &0 | mio | & 11:
120 vy | 30 | 80 | mio | 8 33§
1

1

1

1

1

1

1

1

1

1

i

b1 |
dne) T T Lz ]|z | n| b t1§
— 030 | 14 | 30 [22.5] 63 [100 | 128 | M6 | & |18 :
] 040 | 18 [ 40 | 43| 78 128|164 [ m6 | 6 20.5§
050 | 25 | 50 [53.5| 92 [153 | 199 |m10| 8 | 22 :
063 | 25 | 50 [53.5) 12173 | 219 |m10| 8 |23 |
075 | 28 | 60 |83.5| 120 [192 | 227 [m10| & | 31 :
090 | an | 8¢ [21.5] 140 [ 224 | 209 | w2 | 10 | g :
110 | 42 | 8¢ |24.5| 55 [ 249 | 324 M6 12 | 45 :
120 | 45 | 30 | 35 | 170 | 285 | 320 [m16| 14 AB.RE
1

1

1

1

1

1

1

1

NSIONS i
1

1

1

1

1

i

| - K N R B!

030 35 | 14 24 3 15 L l
oa0 100 | 1 | 215 | 10 13 / I
650 100 | 14 | 235 | 10 13 L I
o6z 150 | 14 | 40 | 10 18 6 :
¢75 200 | 25 | 475 | 20 | 30 6 :
090 200 | o5 | 575 | 20 | =0 6 :
1o oa0 | 30 | er | on | 25 6 :
130 250 | 30 89 | 25 | @25 6 :
1

1

i
_______________________________________________________ ]
i

1

1

1

1

1

1



REDUCERS

INCH SERIES
ALLOWED RADIAL LOADING POWER ON OUTPUT SHAFT OF REDUCER(N)

lbs
1| w2 |RV030|RV040| RV050 |RV063 [RVO75] RV090 |RV110 [ RV130
5| 290 | 135 | 259 | 357 | 464 | 546 | 605 | 763 | 997
75| ‘26 [ 155 | 298 | 412| 535 | 630 | 697 | 879 [ 1150
10) 40 [ 171|327 | 452|587 | 691 (765 | 965 | 1262
15| 84 | 195|375 | 517|672 | 792 | 876 | 1105 1445
20| 70 | 215| 412 | 568 739 | 870 [ 962 | 1214 1588
25| 56 | 232 | 446 | 615 | 800 | 942 | 1042]| 1315 1720
301 47 [ 245 470 | 648 | 843 | 992 | 1098| 1385 1812
qv| 35 | 271|520 | 717|933 | 1098] 1215| 1533 2005
0| 28 | 292|559 | 772 | 1004 1182| 1308| 1649 2158
SU] 74 1311 |59 | 823 1070 1260] 1394| 1758 2300
80| 18 | 341 | 654 | 903 [ 1174] 1382] 1530| 1930 2524
100| 14 | 369 | 707 | 976 | 1269 1494| 1653| 2085 2728

SR ANE L TRFS DT IR0

SRR NN, TEIMIECERNE I NEBURTMT AHE.
HEQLORLBT L RBLUN, EAFIFAREQE ), F0 ) I61/5.

-Above table is the allowed loading force on the midpaint of output shaft.

-When the reducer is with double output shafts, the resultant radial power at the edge of shaft should
not exceed the values specified as in above table.
-The max allowed axial thrust is 1/5 of radial force while the radial force and axial force effected

together.
NMRV NMRV FORNEMAFLANGE
NEMA | Inputbore
Flange| Diameter 5 7.5 10| 15| 20 ) 25| 30 [ 40 |50 |60 (80 |100
NMRV030 48C 0.500 ° ° ° ° ° ° ° ° ° ° °
NMRV040 56C 0.625 ° ° ° ° ° ° ° °
NMRV050 56C 0.625 ° ° ° ° ° ° ° °
NMRV063 56C 0.625 ° ° ° ° ° ° ° °
140TC 0.875 ° ° ° ° ° ° °
NMRVO75 56C 0.625 ° ° ° °
140TC 0.875 ° ° ° ° °
180TC 1.125 ° ° °
NMRV090 56C 0.625 L d
140TC 0.875 ° °
180TC 1.125 ° ° ° °
NMRV110 140TC 0.875 ° ° ° °
180TC 1.125 ° ° ° ° ° °
210TC 1.375 ° ° ° °
NMRV130 140TC 0.875 hd hd
180TC 1.125 ° ° °
210TC 1.375 ° ° ° ° °

I WWW.CHINA-REDUCERS.COM

EVER-POWERTRANSMISSION I




REDUCERS

S X ]
‘ 41 -
A <—>‘<—..
4 I g o
N s - 78N
ol oY SO
I - [ / Py
R —_— ; 1 o o \
RS o= - I e ¥ X ;
/ = o RN oy
i 74 R |h
(L 7\ \ s ! v \ (- L 1
\M\L& AL i i h (B
A\t 8 ! — >
:&i’ 7 = Y =
& =l § T
— 1 1 L :|
Pz . A -—
N '/-‘(‘I
s F:| N
F: : - (7
— \\
/o\\
\ < )
( . \ — «4} 5 b
f _&F
\ T i
: NN _— Y
—t ( i }
1 N I \_|/
N NN i
| \Y
L ,
o2 L’
R
NMRV| A B G C1 | DHT) |E®| F @ 5 H1 [ L1 N N C P | Q R
030 3.15 |3.82[213|1.73]0.625 |2.17|1.26]|2.20(256)1.14 2.64 | 2.48 | 1.57 | 2.24{1.18|2.95[1.73]0.26
0419 3.94 |4.78|276 |2.36| 0.750 |2.36|1.69(|2.80(2.95|1.44 3.15 |3.07 [1.97 | 2.81(1.57(3.43[2.17]0.26
050 4.72 |5.67 315 |2.76 | 1.000 |2.76/1.93|3.35(3.35|1.71 3.54 | 3.62 | 2.36 | 3.31(1.97(3.94[2.52]0.33
063 5.67 |6.85]|3.94 |3.35| 1.125 [3.15[2.64]4.06]/3.74|2.09 4.13 | 4.41 | 2.83 | 4.022.48]4.33|3.15]0.33
075 6.77 |8.07| 472 |3.54 | 1.250 [3.74(2.83]|4.41|4.53|2.24 4.96 | 4.72 | 3.39 | 4.69 [2.95|5.51|3.66 |0.43
090 8.11 |9.37 (551 |3.94| 1.375 |4.33|2.91|5.12|5.12|2.64 5.63 | 5.51 | 4.06 | 5.31 [3.546.30[4.02|0.51
110 10.04 [11.61]6.69 |4.53 | 1.625|5.12| - [5.67|6.50|2.91 6.81 | 6.10 | 5.02 | 6.59 |4.33|7.87[4.92]0.55
130 11.54 |13.19| 7.87 |4.72 | 1.750 |[7.09| - [6.10]8.46|3.19 7.60 |6.69|5.77 | 7.38 [5.12]9.84|5.51|0.63
NMRV| s T V | pa | P3| PG PC PM | PN(H&) FD PP | Pa| b t « al
080 10.82710.22 11.06] 2.15 | 0.24 | 016 | M6x0.43(n=4) | 2.68] 1.97 |0.26(n=4) [3.15]2.76 [0.188 | 0.71 0° | 45°
019 |1.024]0.26]1.38] 2.64 [0.28 | 0.16 | M6x0.32(n=4) | 2.95]| 2.36 [0.35(n=4)]4.33]3.74]0.188 ] 0.84 | 45°| 45°
050 [1.18110.28 |1.57] 3.54 |0.35 | 020 | M8x0.39(n=4) | 3.35| 2.76 |0.43(n=4) [4.92]4.33]0.250[1.12 | 45°| 45°
062 11.41710.3111.97] 3231039 |024 | M8x0.55(n=8) §5.91] 453 [043(n=4)]17.09/559/0250]1.24| 45°| 45°
075 ]1.575]0.39]2.36| 4.37 051 | 024 | M8x0.55(n=8) | 6.50] 5.12 [0.55(n=4)]7.87]6.69]0.250| 1.37 | 45°| 45°
090 [1.77210.4312.76] 437 | 051 | 024 |M10x0.71(n=8) | 6.89| 5.98 |0.55(n=4) [8.27]7.87]0.313[1.52 | 45°| 45°
1 1.969 ] 0.55]3.35] 5.16 | 0.59 | 0.24 | M10x0.71(n=8) | 9.06| 6.69 0.55n=8) |11.02/10.24[ 0.375| 1.80 | 45° 45°
130 12.362[0.59 13.94] 551 [0.59 | 024 [M12x0.83(n=8) |10.04] 7.09 [0.63(n=6) |12.60(11.42/ 0.375]|1.93 | 45°| 45°
I WWW.CHINA-REDUCERS.COM _— 24— EVER-POWERTRANSMISSION I




REDUCERS

M J K L1
_ bl H1 = H1
=)
I 1 [+ O
T——(1 2 7N @
e, ]
[l gl i RE
@ : - o,
I k% s| >
- 2
| ]
: 6L =
Ill) ,_/Y”
|
C1
G
D b
\\\\\\\gg\\\\\\\\\V )
NRV | A B G G1 | D7) |DICE&Y| Ehgy | T G [l | J < L1 M N 0 P ol R
030 |3.15 |3.82(2.13 [1.73 [ 0.625(0.3752.17 [1.26(2.20(2.56 |1.14 | 2.64 [1.18 [2.48 |1.57| 2.24|1.18 |2.95(1.73 [0.26
040 |3.94 |4.78|2.76 | 2.36 | 0.750[0.5002.36 [1.69(2.80/2.95 |1.44 | 3.15[1.18 [3.07 |1.97]| 2.81|1.57 |3.43[2.17 [0.26
050 |4.72 |5.67(3.15 | 2.76 [ 1.000[0.6252.76 [1.93|3.35|3.35 |1.71|3.54[1.58 [3.62 |2.36] 3.31|1.97 |3.94[2.52 [0.33
06S [5.67 |6.85]3.94 |3.35 | 1.125|0.750/3.15 |2.64|4.06[3.74 |2.09 [ 4.13|1.97 |4.41 |2.83]| 4.02|2.48 [4.33]3.15 [0.33
0/h |6.77 |8.07(4.72 | 354 | 1.250|0.8753.74 |2.83(4.41|4.53 |2.24 | 4.96 |2.36 [4.72 |3.39| 4.69|2.95 |5.51(3.66 |0.43
030 |8.11 |9.37|5.51 |3.94 [1.375[0.8794.33 [2.91|5.12|5.12 |2.64 |5.63[2.36 [5.51 |4.06] 5.31|3.54 |6.30(4.02 [0.51
110 110.04/11.61]6.69 [4.53 | 1.625]|1.1255.12| - [5.67/6.50(2.91|6.81]2.76 |6.10 [5.02[ 6.59(4.33 |7.87]4.92 |0.55
130 |11.54)13.197.87 [4.72 | 1.750|1.25007.09 | - [6.10(8.46(3.19|7.60|3.15 |6.69 |[5.77| 7.38(|5.12 |9.84|5.51 |0.63
NMRV | & L T T T L FM [PN(HE)| 20 PP opPofl b || t ]2 m « | «f
03¢ [0.827]0.22 [1.06 | 2.15 |0.24 | 0.16 | M6x0.43(n=4) |2.68| 1.97 | 0.26(n=4)] 315 2.760.188]0.094/0.71 | 0.42]| - 0° | 45°
01¢  [1.024]0.26 [1.38] 2.64 0.28 | 0.16 | M6x0.32(n=4) | 2.95| 2.36 | 0.35(n=4)] 4.33 3.74] 0.188]0.125/0.84 | 0.55| 1/4-20 | 45| 45°
05¢ [1.181]0.28 [1.57 | 3.54 |0.35 | 0.20 | M8x0.39(n=4) |3.35| 2.76 | 0.43(n=4)| 492 4.33]0.2500.188|1.12 | 0.70| 1/4-20 | 45°| 45°
063 94171031 119713231039 | 024 | M8x0550=8) |5.91] 453 | 0.43(n=4)] 7.00 559]0250[0.188] 124 | 0.83]| 1420 | 45| 45°
075 |1.575]0.39 |2.36 | 4.37 [0.51 [ 0.24 | M8x0.55(n=8) | 6.50( 5.12 | 0.55(n=4)| 7.87 6.69] 0.2500.188] 1.37 | 0.96 | 1/4-20 | 45°| 45°
09¢ ]1.772]0.43 | 2.76 | 4.37 [0.51 [ 0.24 | M10x0.71(n=8) | 6.89| 5.98 | 0.55(n=4)| 8.27 7.87] 0.313]0.188]1.52 | 0.96 | 1/4-20 | 45°| 45°
110 [1.969]0.55 |3.35] 5.16 |0.59 | 0.24 |m10x0.71(n=8) | 9.06| 6.69 | 0 55n=g) [11.02 10.24 0.375 [0.250[ 1.80 | 1.24 [ 3/8-16 | 45°| 45°
130 [2.362]0.59 [3.94 | 551 10.59 | 0.24 [M12x0.83(n=8) 110.04 7.09 | 0.63(n=6)]12.60 11.42| 0.375]0.250]1.93 | 1.36] 1/2-13 | 45°| 45°
I WWW.CHINA-REDUCERS.COM _— 25— EVER-POWERTRANSMISSION I




INCH SERIES

REDUCERS

WAFRHH () RT/EXTENSION WORM SHAFT(E) DIMENSIONS

b1 K Jolas | w | wm | bt | n

030  1.772|0.375 | 1.181 | 1/4-20| 0.093 | 0.42

0’0 2.087|0.500 | 1.181 |1/4-20| 0.125 | 0.55

o 050 2.520] 0.625 | 1.575 |1/4-20| 0.188 | 0.70

J 065 2.953|0.750 | 1.969 [1/4-20| 0.188 | 0.83

= m 075 3.543|0.875 | 2.362 | 1/4-20| 0.188 | 0.96
090 4.252|0.875 | 2.362 | 3/8-16] 0.188 | 0.96

110 5.315| 1.125 | 2.756 [1/2-13] 0.250 | 1.24

130 6.102] 1.250 | 3.150 [1/2-13] 0.250 | 1.36

WRWHHE (55, DS) R /OUTPUT SHAFT (SS,DS) DIMENSIONS
L1 T .. b
T dn®) T | T L[z |z | n|bt |0t
_ pre= :' 039 | 0.625| 1.58| 1.67| 2.48 | 4.32|5.83 [1/4-20 0.188{ 0.70
049 {075 | 1.97| 2.00| 3.07|5.36 | 7,94 [1/4-29 0.188] 0.83
| Z 050 | 1.000{ 1.97| 2.11| 3.62|5.95|7.83 |3/8-14 0.250| L.11
063 | 1.125| 236 | 2.50| 4.41 | 7.13|g.41 [3/8-160.250[ 1.23
1 ., b 075 | 1.250| 2.76| 2.89| 4.72 | 7.82 | 10.51 | 1/2-13 0.250] 1.36
1 099 | 1.375| 3.15| 3.33| 551 [ 9.10| 19 13[1/2-19 0.313| 1.51
<[ 110 | 1.625| 3.54| 4.13| 6.10 | 10.90] 16.14{5/8-11 0.375( 1.79
130 | 1.750| 3.54| 3.74| 6.69 | 10.71] 14 47{5/8-12| 0.375[ 1.92
A& (A RTITORQUE ARM (A) DIMENSIONS

[ - K N R B

030 3.35[0.55 [ 0.94 [ 0.31 | 0.59 | 0.16

640 3.94 [0.55 | 1.24 [ 0.39 | 0.71 | 0.16

¢50 3.94[0.55 | 1.52 |0.39|0.71 | 0.16

063 5.91|0.55 [ 1.93 [ 0.39 [ 0.71 | 0.24

¢75 7.87[0.98 | 1.87 [ 0.79 | 1.18 | 0.24

090 7.87 [0.98 | 2.26 [ 0.79 | 1.18 | 0.24

140 9.84 [1.18 | 2.44 [ 0.98 | 1.38 | 0.24

130 9.84[1.18 [ 2.72 | 0.98 | 1.38 | 0.24

I WWW.CHINA-REDUCERS.COM

EVER-POWERTRANSMISSION I




